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JAL-JTAHIL—TF&F 572,198 1584| 721,285 127.3 79.3 63.7
&R JAL 278,452 164.3] 305,520 125.3 91.1 69.5
JTA 247,159 163.6] 347,655 129.5 71.1 56.3
RAGC 42,374 109.0 62,350 120.4 63.0 75.1
JAC 4213 234.4 5,760 206.9 73.1 64.5
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FIH =FRER JAL/JTA 237,421 174.2] 258,600 136.2 91.8 71.8
FR = JAL 41,031 122.5 46,920 86.6 87.4 61.8
BEEE =7 ER JAL/JTA 22,581 316.1 29,700 168.2 76.0 405
=R =312 JTA 47,245 177.0 59,400 139.5 79.5 62.7
FH=RIE JAL/JTA 16,174 136.0 19,300 100.0 81.7 60.1
FH=E% JAL/JTA 8,190 114.8 9,900 100.0 82.7 721
EE =01 JTA 6,323 150.9 9,900 100.0 63.9 42.3
PER=FNF JTA 29,786 2217 39,600 131.1 75.2 44.5
L =#RER JTA 8,137 206.7 9,900 100.0 82.2 39.8
AR =FNER JTA 8,145 209.0 9,900 120.0 82.3 472
RF=EFAS JAG 1,016 113.3 1,440 110.8 70.6 69.0
MFE=5 RAG/JAC 3,422 1487 4,440 148.0 77.1 76.7
A= bk BRI JAG 2202 122.5 2,880 103.4 76.5 64.5
2 dREt 431,673 170.6] 502,380 125.8 85.9 63.4
RFE==d JTA/RAC 54,209 129.0 82,035 126.8 66.1 64.9
MFE=0IE JTA/RAC 43,290 139.9 70,750 129.1 61.2 56.4
NF=AXE JTA/RAC 18617 119.2 28,260 130.0 65.9 71.8
MF=FAER RAG 3,167 106.6 4,500 100.0 70.4 66.0
MEF=AtKXE RAG 1,297 101.3 1,500 100.0 86.5 85.3
F=5E RAG 2,592 148.3 4,550 151.7 57.0 58.3
BEo=%RMH RAG 3,720 113.7 5,700 123.9 65.3 71.1
EAR=IKXE RAG 1,115 92.2 1,500 100.0 743 80.6
RiE=57E RAG 6,104 124.8 8,950 151.7 63.2 82.9
BEa=%R1E RAG 5,975 156.3 10,500 223.4 56.9 81.3
B PR 140,086 130.0] 218,245 130.7 64.2 64.5
E RS & 571,759 1585 720,625 127.2 79.3 63.7
FEHBIREE 439 127.2 660 133.3 66.5 69.7
FRESH 572,198 158.4] 721,285 127.3 79.3 63.7
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RE R =H1ER JTA 134 224 2
2 =33 2R JTA 307 107.3
PR =HIE JAL/JTA 107 94.6
FAH=Ed JAL/JTA 64 81.3
A =50IE JTA 53 126.5
hE =FRER JTA 202 116.6
fELL = AR ER JTA 27 72.1
i =FNER JTA 5 169.0
EF =55 RAG/JAG 1 69.7
IR 51 4 902 113.2
fF==0 JTA/RAG 541 110.8
NFE=0i8 JTA/RAC 481 105.6
MFE=AXKE JTA/RAG 101 96.0
AF=FMAR RAG 20 94.1
AMBB=ALKE RAC 7 82.4
AMF=5FE RAG 20 87.9
Eho=%2RM[ RAG 23 123.3
EAE=IXE RAG 6 108.8
HiE=57E RAGC 42 112.0
B =K RAC 24 173.9
B A%RET 1,265 107.5
FEHARER S it 2,167 109.8
A EMEIR ST 0 E
FRfRSH 2167 109.8
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